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HEALTH CARE

( Vocational Course )
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The figures in the margin indicate full marks for the questions

1. Choose the correct answer : 1x8=8

(a) Items contaminated with blood, cotton containing
body fluids, dressings, etc., should be thrown in

(i) red bags
(ii) blue bags

(i) yellow bags

(b) The normal body temperature is
(i) 97-6 °F
(i) 98:6 °F
(iii) 99-6 °F

/17 [ P.T.O.



(2)

(c) Skin, tears, saliva are examples of
(i) adaptive immunity
(ij) innate immunity
(i) active immunity
(d) Green economy is one which promotes development
while making sure that the _ is protected.
(i) health
(i) climate

(i) environment

(e) Inspection is a technique of __ examination.
() mental
(ii) physical
(i) behavioural
(f) Some common health problems in old age groups
are
() headache, coughing
(ii) hearing loss, refractive errors
(i) None of the above
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(3)

(g9 A No Somking Zone’ signage is a type of
communication.

(i) verbal
(i) non-verbal
(iit) visual

(h) is one of the principles of effective
communication.

(i) Clarity
(ii) Listening

(i) Time

2. Answer the following in I-2 sentence(s) each : 1x4=4

(a) Name the two sets of defensive mechanism in your
body.

(b) Give two classifications of medicine group.
(c) Name the elements of communication.

(d) Covishield is a vaccine given for treatment of which
diseases?

3. Answer any three of the following questions in

20-50 words each : 2x3=6
(a) Differentiate between immunity and vaccine. 1+1=2
(b) Define biomedical waste. 2
(c) What is physiotherapy? 2

(d) What is self-motivation? How to build self-
motivation? 1+1=2
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(4)

4. Answer any three of the following questions in 60-100
words each : 4x3=12

(a) Enlist the routes of transmission of infections in
hospitals.

(b) Define communication. What are the different types/
methods of communication? 1+3=4

(c) Why is immunization important?

(d) What is disease? Explain briefly the three vertices of
the epidemiological triangle. 1+3=4
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